MATH 16020: AppLIED CALCULUS 2 QUIZ 4 (SOLUTIONS) MON., JAN. 31, 2022

Please show all your work! Answers without supporting work will not be given credit.
Write answers in spaces provided.

Name:

1. [5 pts] Compute f 10z sin(3z) dx
0

Solution:
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How I graded?

e 2 pt for choice of v and dv
e 1 pt for plugging everything into integration by parts formula
e 1 pt for integration

e 1 pt for final answer




1
. [6 pts] Compute f —nf dx
x

Solution:

1 u=lnx v=2"*dx 1 _ 1 -3 —
ﬂdx:/lnx-af‘lda: : g "z 3ln(x)—/—fa: Sl da
at 3 4

1 1
3 -3
= 1 - — +C
x”° In(x) + 3 3x
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How I graded?

e 2 pt for choice of v and dv
e 1 pt for plugging everything into integration by parts formula
e 1 pt for integration

e 1 pt for final answer




